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PUBLIC ADMINISTRATION
PAPER -1I

Note : This paper contains hundred (100) objective type questions of two (2) marks each. All
questions are compulsory.

1.  Woodrow Wilson’s article, “The Study of Administration” was published in Wthh of the

following journal in the year 1887 ? .r‘
(1) Political Science (2) Public Administration | f
(38) Political Science Quarterly (4) Public Administration Review,
L ‘
2. Who among the following advocated ‘Initiative” as a p}inciple of Administration ?
(1) Woodrow Wilson (2) .B. Denlfalrdt
(3) Henri Fayol (4) I’ILyndall Unwick

3.  Which one of the following is not correct in relation tg New Puiblic Administration ?
(1)  Value neutrality in its approach ((2) Stresses| fc;r ;trucmral changes
(3) Focus on client Centricity -« ﬁ.{ 4) Relevant to social realities
Y4
4.  Which of the following are correct regarding the thurst areas of New Public Management ?
(a) Down Sizing 0£ Bureaucracy
(b) Minimal state ' |
(c) Maxirm}m' government

(d) New ways for delivery of Public Services
- |

Select the correct Fans-'wer from the code given below :
@) @ ®) © @ 0.0 @ 3) (@) (b), (d) 4) @, () (d)
|

5. Injorder to address the difficulties due to lack of coordination among governmental
institutions /agencies, the Third Minnowbrook conference introduced a new concept known
as: '

(1) I;lteroperability (2) Collaborative governance
(3) Network society (4) Deliberative democracy
posess || [ HTINIEN 2 Fapert
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6.  Assertion (A) : Public Administration is benefited by easy availability of new tools of
communication following the Information Technology.

Reason (R) : E-governance has become acceptable form in contemporary governance,
not only because it is cost-efficient, but also because it is transparent and
time-saving.

Code :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A). .

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A): -.'I"; )
(3)  (A) is true but (R) is false. { r
(4) (A) is false but (R) is true.

L

|
7. According to F.W. Taylor which one of the following is mot a quality} of a good ‘foreman’ ?
-

(1) Manual Dexterity and Strength I,u / _|'
(2) Tact f 1 |/
(3) Judgement \ ‘/
(4) Competence _ Vi
A (
8.  Match List - I with List - IL SGHI%CH:&G correct answer from the code given below.
List - I -—k A List - II
(Author) . (Book)
(a) George H. FredErick;{on (i) Modern Organization
(b) F.A.Nigro and L.G. Nigro (ii) New Public Administration
(c) ~ Victor A..ﬁfhompson (iii) Modern Public Administration
/ (d) Peter M. Bf?u (iv) Bureaucracy in Modern Society
Code -
@ 0 @ (@
a o @ i) ()
@' @ G )
@) @ @) () v
@ 0 G @) @
ponsss || [N ‘ Fapec
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(1) (A) T (R) SHI & € 71 (R), (A) FT T =08 T
(2)  (A) @ (R) S W& €, W (R), (A) T HE A T 2| P
(3) (A) 5T, W (R) T B f §
(4) (A) 7o T, TG (R) TR T
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e - 1 et - 11
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%< .
@ ® e @
1, @ @) @) @)
(2) (iri) (@) () (i)
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9.  Who among the following translated Max Weber’s book Wirtschaft and Gesellschaft into
English ?
(1) Robert Presthus (2) Edward A. Shils and Henry A. Finch
(3) Talcott Parsons (4) Robert Merton
10. Chronologically arrange the Elton Mayo’s studies in an ascending order.
(a) Great [llumination (b)  First Inquiry (c)  Social Organization
(d) Human sentiments (e) Absenteeism :
Select the correct answer by using code given below : 1
Code : .'r‘; .
(1) (), (d), (), (b) and (a) (2) (9 (b), (e), (a) and (d) f r
(3)  (b), (@) (d), () and (e) 4) (@), (b), (9) (d) and (e)
11.  Which of the following is not correct regarding the closeness of administrative management
to Weberian Bureaucratic Theory ? {
(1) Both concern with optimal organisation of dmlrustrators thari production workers.
(2) Both hold economic efficiency as its ultuﬁgfc: criterion.
(3) Both concern for more organisation than its man. '
(4) Both consider the organisation as a unit of its nvu‘onment
12.  Which one of the following stands for Impoverishedf{/lanaglement Style as per Blake and
Mouton Managerial Grid ? R
(1) Low concern for result and Low goncern for pebple
(2)  Low concern for result and high concern for people
(3) High concern for result and Eow concern for people
(4) High concern for people and High concern for result
13. Match List - I with List - II. Select the correct answer from the code given below.
List¢-T ~ List - II
(Main Acfivity{) (Agency)
(a) Concerned with the object of the (i)  Technical Staff Agency
organiZation
(b) Expert in their area of work (i) Line Agency
(c) Prevent thelexegutive from taking (iii) Staff Agency
hasty and wrong decisions
(d) ‘Responsible for housekeeping and (iv) Auxiliary Staff Agency
. purchasin%
Code :
L@ B © @
OO @ @) @)
@76 O @) @)
3) (@ (1) (v) (i)
4) (@) 0 ()
jores Il 6 Fapec
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10.

11.

12.

13.

a)
J(b) T T A H e (ii)
| () IRt B Segarsit # iR (i)

i) (i
rouass [ ]

e ® 9 foraer 11 Ho daR &1 T Wirtschaft and Gesellschaft 31 33stt § s19ame foran i 2
(1) e Jeerm 2) TEAE T e’ TE 30 T e
(3) TR IRETH (4) Ve TeA

TeeA WAl o STEAAl bl SRR hH H FHICTHATIHR SHATEId ShifeT |

(a) WRH I (b) W S () TmIfSe Fre
(d) S A () Srufterfa-vefa

=TT TT e ¥ WE W H = HIT
(D) (© @), (), (b) 3R (a) 2
(3)  (b), (@), (d), (c) ¥R (e) (4)

©), ), ©), @) R @) {
@), (b), (c), (d) 3T (e)

frrefafea & 9 orﬁﬂwém%ﬂﬁwwﬁfﬂmﬁgm%f%ﬁﬁmﬁ?m&ﬁ@ﬁ%?
(1) 3rf, Scre & offt FHIETRI T SIS TR F FGH G % Ui fEfad €1

(2) I STffeR S&rT Sl U &I |G Hlﬂd/i"'l -

(3) ST S7u HeSRE il S wre % SR st e g €

(4) <l TS 1 YA IR HT T gohTE A |

W@%Wﬁﬁﬁﬁﬁﬁa%ﬁww&%%ﬁwﬁwirqmﬁﬁqu«%?
(1) R R e (Fern) e il < ufd of (Fem)

(2) URomH R %H e (o) 9 A & afa 3= s ((fae)

(3) RO R st e () § et % wht e e (Famm)

(4) @ o i Afees e (forar) o ool < gfa sifaes e (faw )

it - 1 %1 it - I & Afd wife ) e fou 1T g & | ST i =27 it
gl -1 S g - 11
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14.

15.

16.

Assertion (A) : The field Establishments are the implementing divisions of the Department.

Reason (R) : The success of development programmes depends to a greater extent upon
the effective functioning of the field establishments.

Code :
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false. :
(4) (A) is false, but (R) is correct. \ p
Match List - I with List - II. Select the correct answer from the code gi\;en below. [
List - I List - II ’
(Kind of Authority) (Characteristic) . . F

(a) Direct Authority (i) Intrinsic by special kn(;wledge
(b) Delegated Authority (i) Based ?ﬂ' seniopi'ty
(c)  Functional Authority (iii) Interyﬁedlate agehcy between issuer and accepter
(d) Personal Authority (iv) Unbroken ITQ between issuer and acceptor
Code :
@@ (b) () (d) ‘j
1) @) @ @) @ 4 ' Al
@ @ @6 0 o f |
@ @ @ @) @)
@ @ (@) @ () -

Which one of the foi}owing leadership theories believes that “A leader is born and is not
made”? ' {

(1)  Trait theory (2) Chrismatic theory
(3) - Behavidutal theory (4) Situational theory
= %
17.' Arrange the follogvinlg books in chronological sequence of their year of publications.
(i) Policy and' Administration’ by Paul Appleby
(ii) = “Motivation and Personality’ by Abraham Maslow
(i) ‘The Art ok Administration” by Ordway Tead
(ivI) ‘Work and Nature of Man” by Frederick Herzberg
Select the correct answer from the code given below :
Q) @), @), (), (1) @ @), (), @) (1)
(3) (), (i), (v), 6) (4) (i), (), (), @)
posess || HHRINMCRRRAI 8 Faper
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14. USRI (A) : & HeoH foum & foraraeert fefasm ga €1

e (R) : forehTl ShRishHl Sl THeTd oIgd S &31d UM & JHTE S e T AR
HA T
<
(1) (A) 91 (R) IHI & § T (R), (A) I T A B |
(2) (A) e (R) ST WET € WY (R), (A) Tl L =€ T B
(3) (A) W&, W (R) o S
(4)  (A) T §, W (R) T T £ s
( »
15. g - 1 &l el - [1 § gfea s | = ST 78 e 8 St ST 1 =91 S|
el - 1 Tl - 11 ; L
(T TR (Fommmg)
(a) T Gl O IRELL a}af@ Wﬁa
(b) TS & (i) S T et
(c) i T (ifi) STHIshaT 3R EeheRReRat % Hea 1 e
C ERIESER K] (iv) TRkl 3R % o 7 22T ATl Hel
e —
@ () (9 (4 A (
1) (@) @) Gv) d « [
(2 @) @) O @ oy S
@) @@ @ @) (@)
4 @ Gv) @) ()
16. ﬁﬁ%{?@ﬁﬁﬁﬁ'—[—ﬁw&iw fagra =g amar € fo6 4 S =1 <t ©, S A sar’' ?
1) T fagr! (2) =HERRE fagr
(3)  HRRAGHUTSI (4) Trafos fagrm

17.0 ﬁmfﬁﬁwﬁﬂ[w%ﬁwaé%aﬂwmmmﬁmaﬁl
() e Toere @t ‘iferet woe vefhfeeeE’
(i) » Wﬁ@lhaﬁ‘mﬁém@gqﬁm’
(iif) 3ied 3 &l ‘T 3T A% TefAfTeeA’
(iv), ; P wsfort =1 ‘o Toe TR A

I L ITT e F FE IR H1 T4 HIT
(1) (), @), (i), (iv) (2) (), (i), (i), (iv)
(3) (i), (iii), (iv), (i) (4) (i), (i), @v), (i)
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18.  Who of the following has given the concept of ‘Knowledge Worker” ?
(1) Rensis Likert  (2) Jane Mouton  (3) Robert R. Blake (4) Peter Drucker

19. The idea that ‘an employee is responsible to only one supervisor, who in turn is responsible to
only one supervisor, and so on up the top organizational hierarchy’ is defined as :

(1)  Unity of Direction (2) Subordination of Individual Interest
(3) Esprit de Corps (4)  Unity of Command ¢

4
20. According to Douglas McGregor, which of the following is a Perennial Question in
Management ?

L

(1) Successful managers are product of situation.

r

(2) Successful managers are born or made. 4§ { (
(3)  Successful managers are not born but made. s
(4) Successful managers are born, not madJé. _'I

21. Match List - I with List - II. Select the correct answl ‘I,;from the code given below.

List - I List - I1 N
(Author) (BSok) (
(a) Dwight Waldo i) ngelopment Adrrﬁnistration
(b) Douglas McGregor _(i})'i' The Administrative State
(c) George Gant (i) Leadership and Motivation
(d) Nicholas Henrgfi. » (iv) Public Administration and Public Affairs
Code : ' |
@ ®. © @
CRNCRCIR I
F@ @ @ )@
@) @ @) ) G
@, (v Gi) | @ 6

|
22.  Which of the following is not included in conceptual approaches of comparative Public
Administration by Henderson ?

(1) Bureaucratic System Approach (2) Human Relations Approach
Decision Making Approach (4) Component Approach

ponst HIHIHIIIHHH\ [HHNA 1
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19. =8 faaR fF ‘FHier Fadt Tk Tdderh & 9fd SWEE BT 8, S A o T & uHdeish & ufd
ST BT T AT HITSH o IR | Y qoh T2 Haeell Bl & 39 fefafad H § 91 el Sl ?
(1) e =1 wwar (2) oEfaes fod @i stefiTeea
(3) UfErE T HwE (4) QY HI THA /
20. TE HHIR & ATER Yored § Fredehiictes g9 = § § -1 82
(1) T®a Yook aRfefa & Sare ¥ |
(2) Ehel Fereeh el B © A S S € | 4 ’H_
(3) Wwwﬁaﬂééﬁ%ﬂﬁ@mﬁaﬁ%‘/ﬁ -
(4) T yeree e B ¥ s w1/ '
21. eIt - 1 1 gt - 11 9 gHfad i ﬁmmwxﬁﬁwwwﬁml
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%< !
@ ®%@ @
f1) @ G) D)y ()
@ ) i) .fi) @)
®) @) @v) @) (i)
4" Gv) G (@ @
\
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pouess | FLRIMIRANAN g

www.examrace.com



23.

24.

25.

26.

27.

Which one of the following model is based on a synthesis of concepts of general system
theory of communication, cybernetics and energy conversion ?

(1) Transactional Model of Communication

(2) Information - Energy Model
(3) Communication Process Model
(4) Shannon Weaver’s Model of Communication

o
f

The practice in U.S.A. by which one or more senators attempt to delay or block a vote on a

bill by extending debate for an indefinite time on a proposed bill is known as : '

(1) Gerrymander (2) Filibuster f f
(3) Capitol (4) Absolute mandate

v

.

Which one of the following statement is incorrect regarding FW. Riggs theory of Prismatic
Society Revisited ? »

(1) He modified his original views about the prismatic'society in 1975.
)
(3) He introduced the degree of differentiation as :‘?second dimension.
4)

He adopted two dimensional approac];\F for propounding this new theory.

Prismatic societies are divided into co-prismatid} orthoprismatic and neoprismatic.
F

-

4
4
Who among the following advocated for ISO certified ‘Sevottam” model for strengthening
the network of ‘grievance redregg‘a]ﬂmechanism and an effective system of citizen’s charter ?

(1) Report of Sixth Pay Cc_)gkn‘hssion

(2) Report of the National Sub Committee of Central Information Commission 2008
(3) I ARC - 12th Report on Citizen-centric Administration

(4) Annual Converirtion of Central Information Commission 2017

Which of the fallowing is a oldest Municipal Corporation in the World outside UK. ?
(I) British Coltumbia (Canada) (2) Connecticut (USA)

(3) Paris (Frer?l‘:)‘ I (4) Madras (Chennai India)

28. Which of the iollowing are correct regarding the characteristics of Development
Administration ¥
(a)|'~ Client - orientation (b) Time - orientation
(o) ¥ Structure - orientation (d) Action - orientation
Select the correct answer from the code given below :
1) (@), (b) () (2) (@) (b), (d) (3) (k) () (d) @4 @), (©) (d
ponsss | HHIHANRCNAN 2 Fapec
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23.

24.

25.

26.

27.

28.

ponass ||
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4
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%\
o oo ¢ o o o - * o
frfafea o 9 foeem g famm a"K'W’QTJI FeTell ARTRER STFHehRTS o edeh hl HSTed o %

maﬁ.@.aﬁ.w&mm@aﬁmaﬁ%?

(1) 3H ofd TR Gfcelg

2) ke YA HATEM, 12008 i T SuEiHfA F1 wfee

) Ta<ia yemafTe GOR S 1 AR Hiwd JonEs W 1247 wideed
) 2017WWW¥WWWW

(
3
4

1%.%%%%ﬁmmﬁ@ﬁ—mwmmw%?
)
)

1 @ﬁﬂaﬁﬂéfm"(m) (2) HHfRH (FTHAT)
3) U@ (W) (4) HEE (S 9RA)

forepTr T Y et % waed F Freifed § o wd §?

(a), VTR - SHET (b) ¥ - Sl

(c) ¥ TT - 3 (d) A - @

T feu 7T Fe F WEH IW HT =TI FHIfC |

1) (@), ®), (© 2 (@ (®), (d 3) () (@, (d) 4) (@ (), ()

(T i
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29. Assertion (A) : The Development Administration is ecological in nature.

Reason (R) : The outcome of developmental activities are conditioned by the socio-
economic and political factors.

Both (A) and (R) are correct and (R) is the correct explanation of (A).

1)
(2) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
3)
4)

3) (A) is true but (R) is false. : .'I"; ‘
4)  (A) is false but (R) is correct. { r
30. The Administrative Development is concerned with : -*. f
(a) increasing Administrative capability and c pac'itglf : {
(b) modernizing bureaucracy F |
(c) administrative reorganization and ratjénalizal ion _fl
(d) administration of developmental programmess ‘/ .
Select the correct answer from the code given below : .=« £
1) @ 0 2) (a)&b),?c)“ O BOG @ @b
Vi <
31. Which of the following country was first to introduce the freedom of the Press Act, 1766 ?
(1)  United Kingdom . (2) Sweden
(3) Denmark i' { (4) Norway

32. Consider the following statements about Comptroller and Auditor General of India and
/' Select the correctlanswer using the code given below :

(a) C & AG is appointed by the President under Article 148(1) of the Constitution.

(b) = His salary iis determined by the Ministry of Finance.

(c) He takes olath according to the form set out for the purpose in the Third Schedule.
(d)lk ' The administrative expenses of his office are charged upon Consolidated Fund of India.
Cod-e |
a),

)
|

), (b), () ®) @ (© @ ) (@) (®) () (d)

(b) 2 @
T 1

1 (
pous ||
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29. 3NfUeReM (A): oo geme= ot yhia mRkfeafasia €1

e (R) : forenmaTeTes Tifafafeat o 9Rom |mifse-oTfeie Te qsHifaeh ®Rel g FHHiia
AL
<
(1) (A) 91 (R) IHI & § o1 (R), (A) I T A B |
(2) (A) T (R) T FE €, T (R), (A) FT HEl @A T B !
(3) (A) T B, W (R) Terd B | /s
(4) (A) T §, R (R) T T {
30. TemEfe foe fRas Hefud § 2 ‘g .
(a) el g3 TRIETR dHed T &l p \ W
(b) M T SRR FHTAT f/"’ & |
() UEITH(H TS Td JeKieh ol | f
(d) foemrETcHe HTishHl 1 FRE ‘ Hj
1= fSU 7T e @ W@ ST H = HINC .
< : \ 1 r
(1)  (a), (b) 2) (a‘)f"éb)(%C) 3)  (b), (o), (d) 4)  (a), (b), (0), (d)
|
31, Forerferfan @S-8 29 Y TN 9 H T S, 1766 F G 2
1) IS fhren ‘i. » ) e
(3) TE “ | @) &

32. W%F—M’ﬂoh%}_Hamelﬁw%@ﬁﬁﬁ%wﬁmﬁwﬁmﬁﬁmmﬁﬁ

-'mm@qﬁwﬁn%aﬁm|

(@) e oIk Fereran qderk i Fgfaa Tgafd grT eTsse 148 (1) & o1& =i <t 7

(b) » Wéﬁ?jﬂﬁﬂf@ﬁﬁ AT R fohan ST g |

(c) & g g | fuifta yed & ST9aR w9 o ¥

(d) ¥ S hrfer 1 A9 WRA 1 wied i W i g g

Fe: !
(a

(1)
ponass ||

) 2) @ b) (© 3 @ (© @ ) (@ ®) () (d)

), (b
(T i
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33.

34.

35.

Union Public Service Commission submits its Annual Report to the President under which of
the following Article of the Constitution of India ?

1) 317 2) 320 (3) 323 (4) 323 A

Match List - I with List - II. Select the correct answer from the code given below.

List - I List - II
(Training Institution) (Place) ¢
(a) Indian Revenue Service Training (i) = Vadodara ,.(" .
Institute [ F
(b)  All India Institute of Local Self  (ii) Hyderabad
Government el F
(c) Railway Staff College (iif) Mumbai* \ (
(d) National Institute of Rural (iv) 1>P5':gpur .
Devel / "
evelopment / . ,.'I
Code / \
@ ® © @ /
O @ 6 @ W . e
@ O @ G @) Pl |
@) G (@) @) 1? ¢
4) @v) (@) @) () -

Chronologically arrange the submission of the Reports of Committees to Government of India
on various aspects of Civil(Services.

(a) Yoginder K. Alagh Committee
(b) A. RamadWami Mudaliar Committee

" (c) Satish Cha?dra.rCommittee

(d) Surinder Nath Committee

36. théh of the following Articles of the Constitution are dealing with the ‘Office of Profit” ?
r
(1) 102(1) and 312 (2) 191(1) and 197
(3) 102(1) and 191(1 (4) 312 and 197
T 1 Faper T
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33. 9Rd & Gfay™ & Feifrd o 9 fRg e1g=sg & sT=id ¥ <k Ha TN Teafd sl 79T aiftien

gfere Iqd il © 7

1) 317 2) 320

3) 323 (4) 323 A

34. G -1 Gl - 1§ Gt i | = ST 78 e § Tt ST 1 =91 i

et - 1
( wfyTeruT e )

(a) R TS Qe Yo Heem
(b) ITFEe YR T ST GE=
(c) YoTd TI® hictS
(d) T AT fohE Heer
<

@ (b) (9 (d)
1) @ @ ) Q)
2 @ @ (@) (i)
3) @) (@) @v) () 4
4) (v) (@) (@) () - ﬁ_{

Y4

e - 11

(¥aT)

é“

(
(il
(

f

35. fafae Qansti o fafis qeqsll W v TR &t gibfaal i fdiel & 9&d & Sl heshargar

HAfEd ST |

() v 2. srem ety

(b) T THTESTH! Herfera) giafa
(c) Hdm= W‘hﬁ:ﬁr

[ (@ gfeons {r}rﬁ

%< :

(1) = (@), (b), (C)'l d) (2 () (© @) @ @ (b)) @ @ @G ©®) @), @) @
a

36. Frefeifad # & %H-8 Gauifieh srese)/ WEdE ‘o % 98’ § T § 2

(1) 102(1) 3R 312
(3)  102(1) 3R 191(1)

poss [ 1T NANEAI

2) 191(1) 3R 197
(4) 312 @E 197
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37.

38.

39.

40.

41.

Which one of the following is not a dimension of Overlapping ?
(1) Bazaar - Canteen Model (2) Poly - Communalism
(3) Nepotism (4) Integration

Which one of the following is incorrect regarding the objectives of Development
Administration ?

(1) Economic Growth (2) Social Justice

Ty

(3) Democratization of system (4) Maintaining status-quo p

{
Which one of the following defined sustainable development as “development that/meets
the needs of the present without compromising the ability of future generations to meet their

own needs” ? . '
(1) UN conference on Human Environment i !
(2) UN Resolution on The Future We Want il - (

(3) Bruntland Commission’s Report-"Our ngﬂinon Fljtlure’

(4) Sustainable Development Goals / , /

|
f

Consider the following about the Prime Minister’s\)ﬁ‘ice (P.M.O.) in India and select the
correct answer using the code given below :

Fd

-

(a) It enjoys status of a department, 4 f

(b) It has replaced Prime Miuj&ter_ﬁ Secretariat (P.M.S.)

(c) It has few attached and'pt}lbof'dinate offices under it.

(d) Itisaline agency. ==

Code :

1) (@), ®) (O @00 ) @O @ @0

Which of the following Articles of the Constitution of India are related to the distribution of
Legislative powers between Union and the States ?

/(1) Article 245*#0 263 (2) Article 245 to 255

(3)  Article 246 to 290 (4) Article 245 to 300

42. Which of the following is not included in Seven Point Directives issued by Supreme Court of
India in 2006 with regard to Police Reforms ?
(1), Constitution of a State Security Commission (SSC)
(2) ‘:" Setting up a Police Complaints Authority (PCA)
(3) Setting up a Networking of Police Organizations
(4) Setting up a Police Establishment Board
posess | HHRINMCRRR 1 Faper
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37.

38.

39.

40.

41.

42.

freiferd o @ PH-T1 T faesTeT w1 ST E § 2
(1) SR - HudH Ared (2) g - AR
(3) W - fSieng (4) TR

forehTe YO % Sevdl & Hed # freiferd § ¥ e W& e 8 ?
(1) sfdew gfg (2) WIS =™
(3)  HSEAT 1 AT =TT (4)  =fefd sHT T

L
frefafed o 9 fras gaa faera <t a8 gty < v & fo ¢ faemm, Tl il i STehl STTervaeharsii
%I QU HA A H Ul forn fomn sdam i srevaeshasti & qu we’’ ?

(1) HHe STdERo Geiell G T G e

) Ewﬁmwﬁwwww d
) F=eivS TR i R - ¢ 3TaR A ﬂ\mfﬂ' ’
\ |

(

Tad g™ a8g J

e 3 TR e (PM.O) %aﬁﬁﬁm’fﬁmm@?aﬁmaﬁxﬁmma@aﬁm
Y & ST F =T HIT | F

(a) TV faam &1 &R e B Y {

(b) T U Gfeame™ (P.Mé.)fﬁ Jfaeentyd fwan? |

() 3T AL Fiqoa Herd :ﬁ'ﬁ ST FEed §

(d) T TH A AR 81

%< : !

1) (), (b) {2 ‘{ @), (b), (c) 3) (@ () (d) 4 (@, ®) (@ ()

IR % G % FH-8 S=e 9 U6 T & HeF faurd wfsad & faawo 4 geifed €2
(1) ergeve 245§ 263 (2) ST 245 ¥ 255

[ 3) =% 246‘?@ 290 (4) =T 245 A 300

e guRi o 9R H YRd o Ioaqd IEed g 2006 H S 9@ P et # fefatea § 9
EQREEIRIDEE T K

(1) TF GLaf S (TH TH §1) 61 187

() gfer Forsrrr W (< T #

(3)  ufer EeAl  Aeafd T

(4) Gferd HEYA SIS St Tl

poss [ 1T NANEAI 1
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43. Which one of the following states in India spent highest percentage of state budget on police
expenditure during 2015-16 ?
(1) Jammu & Kashmir  (2) Punjab (3) Nagaland (4) Manipur
44. According to 14th Report of 2nd ARC which of the following is/are the core
principle/s of Financial System in India ?
i
(a) Focus on results \
4
(b) Adopting modern financial management practices {
lp' [
(c) Budgeting to realistic
(d) Transparency and simplicity - 4
Select the correct answer by using code given below.: “ \ {
o o
1) (@) (d) @ B)(Q )|
|'I |
3 @ © @ @ @, ) ©/@
45. Who among following made poetic description about co__llgctof during British rule as :
“In framing rules for primary schools* & (
. « 1 '
on rural exploration \ 4
A
My active mind shall seek and find
congenial occupation”.
(1)  Phillip Woodruff (2) O Malley
(3) Ramesh Chandra Dutta (4) Ananda ram Baruah
|
' ﬁl I-
46." Central Vigilance'Commission is a :
(1) Constitutional body (2) Statutory body
(3)" Judicial body (4) Executive body
\
L]
47.  Which one of following is correct regarding Second Administrative Reforms Commission’s
recommendation on the tenure of the chief secretary ?
1 Year 2 Years (3) 3 Years (4) 4 Years
pores HI\||H||||\|H|H HH||||\|“|\|H||\|“H|||\|\||H|\ 2 Fapec
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43. 2015-16 ® 9RA & ford TF 7 3T T dsie 1 Faits giae, Ifed W @ foman €2
(1) SHTEHHER (2) WO (3) TMRiTE (4) #AfTR

44, O YRIEME GUR TR Hi 149 R & s1qar feafafed § § sF-1 wra # foxia gomeft s
T fagra &/ ?

(a) TR hf<d

(b) YR foriter Weier T B ST 'fi‘
(c) STferehdl % STMER T I TIR HLAT

(d) IR T Eelw

fefafea e M Fe A a @@ SWAT =R HIfTT : o« *'. .'i'
1) (a), (d) ) ,(*5‘;{ (), (dJ)I ;
(3) (@), (), (d) (4) IJ (a), (b), (C)?"(d)
45. mwasamwmﬁﬁﬁwmwﬁméfwwwwm%:
o Tl 3 forw R 1 S A (
TTHTOT TRfeETor T -{:"j
TRT Gsha Afeash =R T qelerm
el TR
(1) frel ger® \ @) sida
(3) rﬁwq (4) S TH B
46. Wma@fw%
(1) _ T Haues fem 2) TH wifafues e
3) qmrarrquﬁlaw (4) T FEEd e

47. T GfEE % HEE % AR § 5 TTEt GUR ST ) it ¥ 9 Hi 6 fawhe wd d
1) 194 2) 29d (3) 3 (4) 494

(1)
poss [ 1T NANEAI 2
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48.

49.

50.

51.

porass [ |

Match List - I with List - II. Select the correct answer from the code given below.

List - I List - II
(Chairman) (Committee)
(a) D.S. Kothari (i) Committee on the Recruitment of Civil Services
(b) Satish Chandra (i) Committee to Review in-Service Training of IAS officers
() Y.K. Alagh (i) Committee on the Recruitment Policy and Selection
Method _
(d) B.N. Yugandhar (iv) Committee on Civil Service Examination .

Code : -'r‘;
(@ () (o) (d) { r

1 @ @) @ ()

2 @O @) @Gv) (i) _ 4

@) @ O @ '

(4)  (v) () (D) () i 'i

Assertion (A) :

£’

The Money Bill can be mtroﬁuced in anry House of Parliament only on the

recommendation of the President.
The approval of money blll by the T%ap@ Sabha is, in effect, only formal and

routine process.

Reason (R) :

Code :

.
Fd

(1) Both (A) and (R) are correct ania (R) is the corr_gct explanation of (A).

2

4

(2) Both (A) and (R) are corréet 1;'1) t (R) is not the correct explanation of (A).
(3)  (A) is true but (R) is false. |
(4)  (A) is false but (R) is true.

Which of the following is the time period fixed for implementation of 14t Finance Commission

Report ?
(1) 2014 - 2019 (2)
‘4

2015 - 2020

(3) 2016 - 2021 (4) 2017 - 2022

Which of the fellowing statements are true regarding ‘United Nations” Sustainable
Development Goals or 2030 Agenda ?

(a) The Agenda is a broad intergovernmental agreement that acts Post - 2015 Development

Agenda.
(b

(o)

(d

Se

( ) (@), (b) (C)
(3)

(@), (b), (d

) It does nof distinguish between “developed” and “developing” nations.

It is based on the United Nations resolution entitled “The future we want”.
) ; The role of global civil society is significantly restricted in this Agenda.
le

ct the correct answer from the code given below :

2 @, (©) (d)
) @, () () (d

22 Paper-II
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48. At -1 ! Gt - I1 ¥ Gaferd wifTw | o ST e 9 T ST 1 =31 i

49.

50.

51.

J-01418

el - 1 e - 11
( 3TeaeT) (wfufe)
(a) <SLTH. HBRI ()  <reh Fenstl @t wdl o faw wfhfa
(b) EdIY Eg (i) YIRG TE.TTH. SR & JRA o TRECRT 6
o wfafa
c) dR.h. ITeTH (iif) il A T == vgha & foae wfufa
d) T R (iv) e dan wdian & fau afafa L
%< |
o (d
) (i)
iv) (i) g1
iv) (i) y |

i) ) () 4\ ‘|

F
AREwe (A) : Wwﬁraﬁwq?%ﬁrmaﬁw%ﬁwﬂﬁwﬂﬁ Tterd TR
T el T |

e (R) : T H, TIEH1 g1 9 fagee &t ﬂ'zld A, ST To e Fisha ¢ |

% (
R) <1 5E1 € 901 (R), (A) ) T T = ¥
HPJT(R ) T R %, T (R), (4) A) I & e T T
& T, g (R) T |

143 fo 1R & faeeq &l fraraem & fau f=fafed § 9 sA-9 ety e T g2
(1) 2014-2019  (2) 2015-2020  (3) 2016-2021  (4) 2017 - 2022
|

fﬁ"?‘i\?ﬂ'\@ﬁﬁ@ ﬁmma@ww%wmaw’awzmom%aﬁﬁﬂﬁ%?
(a) TSI TH SeR- TR T ¥ S 2015 3 TY fwE % T F e § e e

S|
(b) = 7" ﬁwﬁqla e * forshrasiiet” el o ST 98 &l T |
(c) & I g w RR o AT’ U ST B |
(d) , 349 wSiel | afves fafaet Same &t fast i siw wifd s e T )
ﬂ%@m@msﬁnmﬁ@qﬁ$ﬁwwaﬁﬁq:
1) (@), (b), () 2 @, © @
3)  (a), (b), (d) @) (@), (b), (c) (d)

[ 2
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52. Which one of the following committee/commission recommended the introduction of
Performance Budget in India ?

(1)
(2)
®)
4)

C. Rangrajan Committee

L.K. Jha Commission

First Administrative Reforms Commission
Second Administrative Reforms Commission

53. Which of the following statements regarding the Whistle blowers Protection (Amendment)
Bill, 2015 are true ?

"

(a) The term Public Servant includes the higher judiciary. {
(b) It prohibits any person to report any corrupt act if it relates to secutity of Indias
(c) It prohibits disclosure of those acts which are prohibited under-the Official Secrets
Act, 1923. {
(d)  Any person who makes any disclosure which is false or misleading shall'be punishable
with an imprisonment upto 2 years or a time upto T 30, 000. (
Select the correct answer from the code given below :
1) (@ (®) () 2 ()@ @
(3 @ (9 (d) @) f@), B) ©J(d)
54. Which of the following are the principles of Budgeﬂ\f
(a) Balanced (b) Comprehensiveness
(c) Estimates on a revenue basis 4 (d) Rule of apse
Select the correct answer from the c?dé‘ given below :
1) (@) (b) () (d) A O @0y
(3) (), () M w 0O
55. Match List - I with List - II. Select the correct answer from the code given below :
List - I 4 ” List - II
(Concepts) ' { (Explanation)
(a) Integrity | (i) advice and decisions are based on rigorous analysis
“4 of the evidences
_(b) Honesty (i) putting obligations of Public Service above personal
{ [\ interest
(c)  Objectivity | (iii) acting solely according to merit of cause and serving
equally
(d) o Impartiality (iv) truthfulness and openness
Code : !
L @ () () (d)
v @ @) (1)
(2) @) @) @) @
() (i) (lii) (i) (IV)
4) D (i)
jores Il 2 Fapec
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52. WRd H frsafa sste sl an] @ o« fore fifea § 9 fora aftfa/ s 3 sifaean st off ?
(1) ¥ TweE wfafa (2) WAk N HARH
(3) UUH YITH(TH FHR AR (4) Tedia et gurR
53. fxga seier gqran (Heiem) foa, 2015 % aR # fr=ifend § & s @& €2
(a) Tk Yok W H 3= ATt wimfed T
(b) fE g F1I 391 1 LA Y FEUd § 0 3R TRER F Fed H RO F F Al oy
T
(c) & S Sl % G 1 8 HT & S TR A A= 1923 H Wﬁg%lraﬁ TS
T
(d) ﬁéwﬁ@ww%ﬁwm%ﬁmw%ﬁeﬁzaﬁwﬁwm
% 30,000 (¥ &SIR) e foed feran S whal B e
1= fSU 7T e @ W@ SW H = HIT : 'i
1) (@), (b), (c) () ,(*5‘;{ (@), (d) |
3) (@), (o) (d) (4) Ir’(a)l (B), (©)(d)
54. =N & fagra fefafed § 4 $H-9 €2 \‘/
@) W ) s
(c) oTEd i STgHM L) =T %1 Frem
ﬁmm@ﬁwwwmﬁﬁm '
1) (@), (), (9), (d) i @00
3)  (a), (b), (d) - 4) (), (9 (d)
55. ¥ - I %! A - Ilﬁgﬁﬁﬁaﬁﬁm 1 ST T e | W& ST A1 =TI ST
T - 1 | gt - 11
( ST ) (=)
(a) Fegfar & () Tel T vl wnedi o W@ fawersur W et ¥ |
(b) AR ‘f (i) ARG % Trface i sl fedi @ S v
(c) eEfT=Sd | (iii) herct STl oY TUTET % STIHR FHMAT < STTER T HE HET
(d) frogemr (iv) HAdl T8 G
e : |
L @ (b) () (d)
()" i) @) @v) (i)
(2) v @) () ()
(3) (i) (111) (11) (1v)
(4)
ot |\|\|H|| .
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56.

57.

58.

59.

Who states that “Science is an attempt of the human mind to find a connection between
world of ideas and the world of phenomena” ?

(1) P.V. Young (2) J.J. Thompson
(3) Einstein and Infeld (4) Goode and Hatt

Which one of the following is not a Maharatna Company Currently ?
(1) Coal India (2) Indian Oil Corporation /

(3) National Aluminium Company (4) Bharat Heavy Electrical Lifm'ted . -

The main elements of Government Policy towards Public Sector Enterpr1ses under New
Economic Policy, 1991 were : i

[

{
(a) Disinvestment of Government equity in a/l_}dhon—strategic Public Sector undertakings to

26 percent or lower if necessary. / !

/
(b) Those Public Sector enterprises wh1ch are potentldlly viable have to be restructured
and revived. -

(c) Welcoming Private Foreign Investment and Foréggn Technology.

(d) Those Public Sector undertakinsgskwhich cannotroé- r:evi:/ed would be closed down.
Select the correct answer from the cbde given below :

1) (@), (b) () __h L @ @®@

3 (), (0 () 4 (@) (b) (0 (d)

Which one of the following principles provides protection against the effects of extraneous
factors in an experimental research design based study ?

(1) Principle d(lll)f Replication (2) Principle of Randomization
i -~
(3)  Principle offLoé.al Control (4) Principle of Matching
60. Which of followfng is incorrect about the merit of interview method ?
(1)| Higher yield of responses
(2 ) + Higher reliability of responses
(3)  Procurement of supplementary information
(4) Possible to ignore the effects of human equations
ponsss | HHIHANRCNAN 2 Fapec
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56. I8 fohueh1 oA § ff ' fomm foall & wog iR wereiell < 99g < Wed Gedl &l QIS & 91
HieTsh 1 T 71
(1) i =m0 (2) LS. ATEH
(3) SMEREA 3R TAhee (4) TTSTATE
57. feifeRa H 9, 39 999, HH-H Ao HEOH @ © 2 i
(1) @A gfean 2) sfieaa sArad HHEE L
(3) TeME UegfAfEm HE (4) 9RG gt soifagsat fa.
58. % afifedes Hifd 1991 %mqﬁaﬁmaﬁéamﬁwmﬂﬁréamﬁ g
(a) ’\:r’ﬂﬁ'{?fr?a"'rwolwnﬂqo%ﬂsamﬁﬁﬁﬁ?ﬁ;ﬁ@?ﬁwﬁﬁﬁﬁm%maww@
T T |
(b) ﬁqﬁﬁrﬁ%%ﬂmﬁwmﬁﬁmm% : el T S foRe ST R
(c) Frsit faeht fromn o fadeht eifirent o1 wamrat | ‘j
(d) @qﬁwﬁaﬁaﬂwsﬁmﬁamﬁwméﬂaﬁm
= ST T e @ GWE SW H =weH aﬁ?rq |
1) (@), (b) (9 Ve @ @ k)@
3)  (b), (c), (d) w 4) (@), () (o) (d)
59. frefafed o | - Wﬁq@?m‘lﬁﬁmﬁa AfYheq STETRA STEFA T F1el Hehl o THE § FE
TeH AT |
(1) - gfaEd FifasT 2) IRFewE H fagm
/() A ﬁﬂeﬁr 1 fesr 4) HHeH w1 fagr
60. TETHR TS H 701 o aR | frefafed § 9 o e €2
(1)l i = T B
(2)\y SR = S fervererT
(3) IFTF THFH A B
(4) TS GO % GG i STHSET Ha B
pouas || HNIAINUAN 2 Papert
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61. Read the following statements and select the correct characteristics of usable hypotheses by
using code given below :

a) Hypotheses should be related to a body of a theory.

=3

(
(b) Hypotheses should be empirically testable.

(c) Hypotheses should be grandiose in scope.

(d) Hypotheses should be specific one. ¢
Code : {

62. The Public Sector Undertaking (PSU)/ Public Sector.Enterprisé that(has an average annual
turnover of more than ¥ 25,000 Crore/an/y'erage,,annual net worth of more than
% 15,000 crore during last three years is Called

(1) Miniratna Category I Mmlraa a Category I

(3) Navaratna Mah

-

. |

4
63. Which of following is not a char. _g'cteflstlc of the scientific method ?

(1) Reliance on empirical e\hdlences (2) Commitment to objectivity

(3) Value orientation (4) Generality
g

64. Consider the following statements on the objectives of the foundation course of Training to
the civil servants in India.

;(a) Imparts basic understanding of the environment of the government.
(b) Fosters the gttitudes and values required in every civil servant.
(c) _ Develops the professional competence.

(d? Develops I:lhe esprit de corps among officers of different services.

|
Selegt the correct answer by using the code given below :

® @ ), © @ @ © @
@ @ ), © @
pores i 2
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61. TrAfafEa el F1 afeu iR F= fSu T e 1 T X gL TAeT IRerea i @t fomoare o
I i |

(a) Rered fRel g o Ied § Hafyd 2t =T |
(b) TReheTT 1 sTfae gfic | wiemor 9ra g =nfeu |
) AReheHAT 1 SN forre BT =

d) afRereda fodiera gt =nfeT |

62. TIE ik SUshH/ sk e Torgen 3ira anfiieh SRiek 3 25,000 El?ﬁg{ﬁ ¥R & =1 forgent fosar 09
Tt @i fae qREw 3 15,000 S 9 aqfwaﬁ/%% aa‘fw%?

(1) fafwe gof -1 @) | ”ﬁ:ﬁws?rtrﬁ il

(3) TRA 414311?4'/

63. ﬁwmﬁawamﬁmmﬁﬁﬁwaﬁ%> |
(1) mwwwmﬁﬁm}’t L (2 TSl % ufd sEEesdl

(3) HA JATHHEIR (4) HEEI

{ -
64. YRdH 'ARda’ ﬁﬁqaﬁmﬁuﬁw%m&mww%@@%@ﬁﬁﬁmﬁmaﬁaﬁm
ﬁaﬂﬁﬁm _'

() W%W&éﬂﬁﬁmwﬁl
(b) = HA T H"IICﬂI\'MI [ 1 forenfid ST ST Toish dileh Haeh 7q ST ¢ |
(c)  oHerEIaeh &Hdl <Rl forehfad e |

df et Gl % et 8 oAt < it 39 e Frefad

ﬁﬁqn@@@ﬂﬁwwwﬁm:

(1) (@, ®), () 2 @ (© @
3) (@) (b), (d) ) (@) (®) () (d)

P Il z
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65.

66.

67.

Chronologically arrange the themes of Davos conferences of different years :

(a) Rethink, Redesign and Rebuild

(b) Responsive and Responsible Leadership

(c) Resilient Dynamism

(d) Creating a shared Future in a Fractured world

Select the correct answer by using code given below :  a

1) (@) ®) () (d) 2 ®) () () @ {
() (@ © ®) @ @) ©) @ © @ ( f

“Corporate Governance reforms are and should be seen as part and. parcel of the broader
Central Public Sector Enterprises reform program rathér than as a stand-alone or substitute
reform in India”. This recommendation was matde by which agency ?
(1) World Bank (2) !.‘internationélll Monetary Fund

I

(3) Asian Development Bank 4) ! Deparimer_{t of Public Enterprises - India
Match List - I with List - II. Select t&e correct answef ffom the code given below :

List - 1 List - II

< {
(Commission) Y/ = (Chairman)
(a) Expenditure Commission (i) A.K. Mathur
(b) Commission on Reforms (i) K.P. Geetha Krishanan
of Criminal ]us’z'ice System

(c) Second Commission on (i) M.M. Punchhi

Centre-StaEe Relations

(d) Seventh Pa; Commission (iv) V. Malimath

Code
@ ® l© @
W @ @) G 6
@ 6 @) Gv) o GE)
@) @) O @ G
@ @) @ O @
A 11 1 T
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65. TAM GHEH! o Il Sl ITeh THAR HITHHTTHR AT HIST :
() YAfENR, qA:3Afsheq Te gAHA
(b)  3TIfshameiiel T SRR e
(c) Tr=ER Tiderg
(d) wfed fava 4 wren wfas= s g
= QU 7T Fe & 9 G S| A1 T HIGT ¢ P
(1) (@), (b), (0), (d) 2 (®) (), (d), (a) f f
3) (), (), (b), (d) 4) () (d), () (a)
66. ‘‘HTINE AE GUR 1 g (LUSHAH) e Sehfedeh GUR aﬁ{qwlqﬁézi ARSI CEIECRP|
3T GUR FEAHT F ﬁm%?ﬁimé@wwﬁaﬁ” %Fﬂﬁﬂﬁﬂﬁwﬁwmﬁﬁﬁ off ?
(1) fova 5 2 ,r'f st T
(3) TRMEE faw™ d& (4) | @ Jﬁvw—nﬂa
67. W-Iaﬁwﬁ-ﬂﬁgﬁﬁﬁaﬁmlﬁ\%ﬁqmﬁﬁfWBﬂwwﬁm:
o1 V¢ -
( ) E (@t )
(a) = M g () TH AR
(b) Uy 2T sruna“r zﬁ%m 3TN (i) .. TdarRTH
(©)  F% TF wrrdl W fgedta i (i) TA.TA. g
[ () = "Ta?m (iv) . Afeme
Fe
@ 0@ @
) @) @) 26
@N@O @ @) (@)
(@) @) @ @) (v)
4) (v) (@) (@) ()
rouas || [N o Papec
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68. NITI Aayog’s ‘“Three Year Action Agenda’ covering policy changes and programmes for
action plan is related to which of the following period ?

(1) 2014 - 15 to 2016 - 2017 (2) 2015 - 16 to 2017 - 2018
(3) 2016 - 17 to 2018 - 2019 (4) 2017 - 18 to 2019 - 2020

69. Which of the following is correct regarding the subject matter of Ministry of Sct)cial Justice

and Empowerment ? \
4

(a) Scheduled Castes (b)  Scheduled Tribes {
(c) Minorities Affairs (d) Differently Abled Persons'r [
Select the correct answer from the code given below : . ¥
1) (@ ®) (© 2 (®) (@ @ { ;'i'
CORNCYACY @ G -

,.'f | |

|
70. Which of the following State Taxes that have been s bsumed within the Goods and Services
Tax ?
(a) State VAT (b) Sales Tax £
%

(c) Service Tax “(d) Entry T_gx (All Forms)

Select the correct answer from the ¢ode given below :

A
1) (@ ), (© - ) (@) (b), (o) (d)
3 (@ (b) (D . 4) (), (o) (d)

il -
w |
71. Which of the following are the key challenges listed in “Some inputs for Draft National

Education Poligy, 2016” by the Ministry of Human Resource Development ?

Select the correctianswer by using code given below :
(@) Quality of IE

he education imparted
(b) "Equity in education

() Pre-School education for children in the age group of 4 - 5 years should be declared as

| aright
(d)lk + Financial commitment to education development
Cod-e d
1) (@), (b) 2) (@), (b) (9 ®) @, () () ORNCACACACY
porsss | IR 5 Fapert
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68. ifd URad=i SR FTdshHl ! GHIfae A arelt wrEd Ao & fag fifa e @ ¢ fedta st
SRy’ fAfafed 5 9 fha woavs § Heafyd g2
(1) 2014 - 15 ¥ 2016 - 2017 (2) 2015 -16 & 2017 - 2018
(3) 2016 - 17 & 2018 - 2019 (4) 2017 - 18 ¥ 2019 - 2020
69. ISR = TS TGl A= i fawaesg & Hed § 1 Wl § 2
(a) oY Sfa (b) STIgfEd S (
(c) SITIHEASH A CIRRELRIRASE ! I
1< QT 7T e 9 W I A1 =TI HIWC .
1) (), (b), (9) 2) (), (). (d) { J;
3) () (d) (4) ﬁPf ©" “
f | |
70. wﬁﬁ@ﬁﬁ%ﬁﬁﬁq@%eﬁaﬁ@fﬁmwim%ﬁ@%?
(a) T (b) fosht w/ y
(©) Fa LU T R )
3 fo T e & T T T '
1) (), (b), (9) ._h - (2) (@), (b), (c), (d)
3) (@), (b), (d) ! 4) (b), (9, (d)
71. memn;mjm“WﬁmqﬁW%@ww, 2016"" &t Y@ ATl o
Freifera & 9 Wﬁ %! Fetos foRa 7T B 2
¥ ﬂ%@m%mmm@wwwwaﬂm;
' (a) a“rmr@ﬁm&ﬁgmw
(b)  Teretr & =Ry e
) 4-5 = H g F T ¥ e Y4 e A Tk SHR SR B =
() Toran % forrr 3 farciier wftrergan
=
1)  (a), (b) (2) (@), (b), (9) 3) (), (b), (d) 4) (@), (b), (9), (d)
rosas || [ IDIFHNHLAT 5 Papert
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72. Match List - I with List - II. Select the correct answer from the code given below :
List - I List - II
(Policy Model) (Core Thinker)
(a) Elite/Mass Model (i) Carl J. Friedrich
(b) Group Model (i) Arthur F. Bentley
(c) Institutional Model (i) C. Wright Mills ¢
(d) Organized Anarchy Model (iv) John K. Kingdon " " o
Code J [
@ () (9 (d '
O G @ 0O W P &
2 @ @ @) (@) | ’ |
G O Gi) (v G [\ |
@ @ @ O @ \
P
73. Name the organisation which has facgitated to establi?h a het’x:zork of N.G.O.’s for setting up
grain banks in Maharashtra. ! .
(1) Food Corporation of India 4__){ (2) Amul
(3) Ministry of Agriculture; hGovt. of India (4) Academy of Development Science
74. “Policy is originated,‘:impffmented, adjusted, re-implemented, re-adjusted ad-infinitum”.
The statement represents which of the following Model ?
(1)  The Elite @[odel (2) The Group Model
" (3) The Systen:f\\/ldcriel (4) The Institutionalist Model
75. The-Constitution (97" Amendment) Act deals with which one of the following ?
(1) Office of Plrofit
(2)Ik / Constitutional Status to Co-operative Societies
(3) : Right to Education of Children (6-14 years age Group)
(4) Provision of Goods and Services Taxes
ponsss | HHIHANRCNAN g Fapec
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72. et - 1 K1 gt - 11§ gafad Hifse) 919 fSu T e 9 9@ ST 1 =97 Hif

et - 1 et - 11

(fifa urew) (9o fo=mas )
(a) fafere/wmrsH eq () I . Telew
(b) HHE WY (i) TR TH. =
(c) ik UrEy (i) I, e foed
(d) HfSd STSTehal IEy (iv) A . fohTed

[

<< :

@ (b) (9 (d)
M @) @ O @ r
2 @) @@ @) (@) /f-' P
G) @ @) @v) (i) / [
4) (iv) (@) () (i) /

73. 39 WISH &1 A9 Iz 9T HERTE H SIS Sehi i Féﬂ%@‘ﬁ'{ THR TS T Tk Aaeh

TenTfud feran ? A f
(1) oG @& W X j @ omE
(3) W AT, WWF{_H (4) Towm foam st

74. ‘'S ST T qo QI FAITO, FHIEIS, YR A SAES gt g 1
- |
IE e I FfH A © 2

(1) - st wigAr (2) E9E wfeA

/) Bqawuﬁﬂ‘r (4) HErErE yidH E
75. 97 o Houfer S sfufem 1 Freifrd § 9 fored vy €72

(1) o % e

)\ T e 71 Ao @

3)  6=14 Id g o & sl & 6T F AFER

(4) I% T 91 F Geit graum 9

poss [ 1T NANEAI 5
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76

77.

78.

79.

Which of the following policy model is designed to maximize ‘net value
achievement’ ?

(1) Rational (2) Incremental (3) Mixed Scanning (4) Systematic

A “Nagar Panchayat” under Article 243 of the Indian Constitution means ?

(1) The biggest Gram Panchayat of a district ¢

(2) A Transitional area from rural to an Urban area {
(3) A Smaller Urban area

(4) An area of a Panchayat partially coming under a town and partially under a village.
( °,
g N |i
Busse of
Assertion (A) : Public Policy is a purposive £ourse of action that an individual or group
consistently follows in deah;hg with a prfoblem

Reason (R) : Policy is an instrument through V\iuc society regulates and attempts to
channelize human behaviour in acteptable d1rect1ons

Code : 4

&
(1) Both (A) and (R) are corregf aﬁd ) is the correct explanation of (A).

(2) Both (A) and (R) are c01}re{tt but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4)  (A) is false, buti(R) i-é{ true.

Arrange the Eoﬁ‘gwing in the chronological order :
(a) Royal Cowfnisgion on Decentralization

(b) Ripon Resolution

(c) ; Montague’s Declaration

(d;‘ Mayo Resolution

of

Select the correct answer by using code given below :

1) ®), @) @ 2 @ ®) @ @ @) © @ @ d @ (@, b), @), C

porsss | IR 5
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76.

77.

78.

79.

J-01418

iR ® @ -9 UEY F T &l Afeena T o fere et foran man g2
(1) feher (2) HiFE®H (@) fufsd fowmor 4)  =Efeaq

IRA % T & ST=E 243 o T=id T ' TR d=m@d’ | Ay g2
(1) T TSl =t Tol ot U g=Ed

2y e i ) ST e (s
(3) TH BRI TR &

(4)  EPI  RE A S A TR OF el ok f: i % e

(

-

afreRem (A) : @ ifa T TR e ¥ f efer 'I?ﬁw e fordl wwen 9 faed 7
FRA oo 2 | [ \ “

& (R) : Hifq T T WA €, e Ao Wwwﬁ@ﬁmﬁwﬁ
%ﬁwﬁaawﬂﬁaaﬂﬁaﬂmm‘?’l%l

<< : ‘\ {
(A) T (R) SHI T&T %, asm“} A) T T8 S B |

(A) T (R) THIL 2T €, T (R), (A) S T ==& T |

1) (A)
) (A)
) (A)
) - (A)

2

(A Hé%,mzk)m%n

(
(
3
(

(A) T g, W] (R) HEI R

foretfetfiad =1 wa ¥ ot HIRT -

(a)’ ﬁéﬁﬁwjm LR TN (b) R g=E

(0)\ it shon ()
%%@m@ﬁmﬁnﬁwaﬂwﬁﬁq :

M G, @@ @ @ 6D G O @@ d @ @, b) @), c

4

[ o
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80. Consider the following characteristics of Institutionalist model of public policy :
(a) It focuses on the organisation chart of government.
(b) It describes the reporting arrangements and duties of bureaus.
(c) It takes into consideration constitutional provisions, administrative and common laws.
(d) The living linkages between bureaus are also considered as important one. :

f
Select the correct answer from the code given below : /

81. Who stated that : {
“Public Policy is the outcome of the struggle ir},g’dvernment over who gets what” ?
jl' |
(1) B. Guy Peters (2) fEloise F. ijllone

/ .-'
(3) Eulan and Prewitt 4) Clark%];}COChran et. al

82.  Which one of the following states i} not covered in rfirst phase under ‘Climate Resilience

Building among Farmers throggthrop Residue Management’ Project under National
Adaptation Fund for Climate}Ci\aﬁ'ge (NAFCCQC) ?

(1) Himachal Pradesh (2) Uttar Pradesh

(3) Rajasthan !i' - (4) Haryana

83. Consider theiteins included in the Eleventh Schedule of the constitution and select the correct
answers from the eode given below :

(a) Public distribution system
(b) Prevention of Cruelty to animals
(c) Non—convéntional energy sources

\
(cl)lk o Libraries

Code §
M (@), (b), (c) 2) (@), (9, (d) @) () (o) (d) 4) (a), (b), (0), (d)
rouss [ ALV 5 Papec
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80.

81.

82.

83.

J-01418

e Hifd < Femarel gfaae st fFefafaa fagarst « fa=mm wifsm

(a) I8 TWHR F TS I W Higd Tl S|

(b) I < I Rifén syeen wd wdedl &1 avi T 7

(c) Ie WU Susiel, Jondfeh Te | S 1 e B W S

(d) = % ot |k Huhl Sl ot TEwergul W B «-

= I TTT e AT el § W ST H A HWC L
1) (@), (b), () 2 (@ (© @ 3) (b)) @ [ @ 0), ©/()

fora war a1 o - 4
“w%‘ﬁﬁH{%l{ﬁWﬁﬂﬁWqﬁUﬂﬂ%ﬁFﬁF@lﬂEﬁWI
(1) ot mE dred ‘sﬁ@wﬁﬁhﬂ
(3) g iR Wi (4) W%?ﬂ'{'—!@ 31

ﬁwﬁf@ﬁﬁﬁﬁﬁawﬁwqﬁaﬁ#wﬁmaﬁ%ﬂw%WWWWW

qﬁﬁw%mmﬁumwﬁﬁq&uﬁﬁﬁﬁﬂh%mwﬁmw%?

Ly
1) feu=a wew - 2) TR

(3) ToRUH = (4) sfamom
qﬁwﬁwﬁwﬁﬁﬁmmmﬁmamﬁwmaﬁ:mm@aﬁm@
TR ST B T R

(a) Hﬁiﬁﬁmﬁrfmwﬁ

(b) SRl o gfd spYar fuy
(¢ R = B
i
(d)\, s
1) (@), (b), (9 ) (@) (), (d) 3) (b), (c), (d) 4) (@), (b), (9) (d)

(
[ z
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84. Which one of the following is not correct regarding Pradhan Mantri Awaas Yojana-Gramin

(PMAY-G) ?

(1) PMAY-G was launched on 15t January, 2016

(2) Aims at providing a pucca house, with basic amenties to the beneficiary

(3)  Specified financial assistance is extended to the beneficiary for constructing a unit
(4)  The beneficiary is entitled for 90/95 person days of unskilled labour under MNREGS

P
[

4
85. Which one of the following is not a constraint faced by the administrationof cities il India ?

I’ [

(1) Insufficient generation of revenue

2 Non-fulfilment of Municipal Personal Positions 4
- |i
4\ °
f |

86. According to the provisions of the constitution a “Metropolitan area” means ?

(2)
(3) Reliability of Utility Services
(4)

Adequate representation of Women

(1) An area having a population of five lakh or mgr .

2

r

An area having a population of ten lakh or more V.

(2)
(3) An area having a population offifteen lakh or fhore
(4) An area having a populaﬁmﬁc& twenty lakh or more

Vi

87. Which one of the following has promised to ‘Ensure healthy lives and promote well being for
all at all ages” ? -

(1) UN Conference'on I—iealth for All

(2) Millennium Development Goals (MDGs)
(3) Sustainable Development Goals (SDGs)
(4)

4) Common F?tur—.e Report

88. Which one of the following is the recommendation of 2" ARC in its 6" Report (Local
Governance) concerning District Rural Development Agency (DRDA) ?

(1), DRDA should be discontinued

(2) ':" DRDA should be strengthened with more power

(3) DRDA should be merged with District Committee

(4) DRDA should work under the supervision of State Planning Board

porsss | HTHNIUINAN

‘ 40 Paper-II
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84.

85.

86.

87.

88.

poss [ 1T NANEAI o

Treiferd § @ gumE=T SAEE ASH-UHE0 (0 TR, -5, ) o e § o et T8 § ?
(1) WTATERE.-S. I 1 e, 2016 € IR foran T

(2) U1 3T enet I Yord Glawnstl ¥ e, Teh TaR] Heh ST hidl ¢ |
(3) TH HE (¥R <k faffwior g anweff =1 foriiera foxita Femar YeH &l S © |
(4) @Il ARG % q8d 90 - 95 hr fEa Y STHIIA HSIGH I THAR T |

4

Od o &4 o JImEA gr1 f=ifend § 9 forg foasrar (amem) Eﬁrwﬁﬁo‘mm‘@%?’f; .
I’ I

(1) TSRS 1 STIAT 3G

(2) T whifHE T&1 T Wl T HEA

(3) S gansli =t foresrem 4 \

(4)

Heemeil 1 vt gfafifie ff‘l ".

4

e ¥ T 5 SIER T TR A ﬁaﬂﬁ’j
(1) U & gt S8 5 a@ a1 it 2

2) T & FEH SHEE 10 A A o | (

(2)

(3) memls‘.%ﬁ% a1fereR & |
f

(4)

4) T& 7 TR SHEE 20 ARG A1 ik 8

freifena & 9 for ‘Tt a?r{mﬁ g T Stad giHfved’ T &1 o o 7 2

(1) | I @EA R J.TH. A (2) EeHlfs o e

(3) waq faeerd @e (4) i o wfieed

5

TE TR GUR SR A 10 et Rurke | e urior fasm woiet (SLaARET) & ok |

frfafaa o 9 0 fawier =t o ?
(1} é.w.@.q!aﬁa?aﬂﬁwwaﬁm
2 ) , ST ELT, i IR wifaaal yeM o S gge feman < =nfeu |
(3) HIRIAT. =1 fem wfafy % et foem fvan < =few)
(4) SLARELT, S T ASH A1 *F FHA0 H Hr HE1 =0
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89.

90.

91.

92.

‘Panchayati Raj Institutions should be given a substantial share in the royalty from minerals
collected by State Governments” was recommended by :

(1) 2nd ARC in its 6t Report

(2) 2" ARC in its 15 Report

(3) NITI Aayog

(4) Department of Investment and Asset Management of Union Ministry of Finance

L
"

{

Which one of the following area dominates the Public Private Scenario im'India ? ¢

(1) Health (2) Telecom (38) Power (4) Roads
d L
The constitution of ‘Local Body Ombudsman’ was recommenided by which of the

following ? A ’
P |
(1) First ARC (2) fSecond AR|IC
| ¥
(3) L.M. Singhvi Committee 4) | NITI }\a;;fig

Consider the following statements Eegarding Prﬁd—h;n Mantri Gram Sadak Yojana
(PMGSY) : ¢ |

-«
The PMGSY was launcl'pc} on 25th December, 2000.

(a)

(b) The Yojana was 100 percent centrally sponsored scheme.

(c) It intended to plrovi(xie all weather roads to rural unconnected habitations.

(d) The habitationsi'of more than 500 persons in hilly and desert areas were made eligible

for the Yojana.

Select the correét answer by using code given below :

93. G:V.K. Rao Committee on Panchayati Raj Institutions was appointed in 1985 by :
(ll Ministry olf Rural Development
(2)" J Planning Commission of India
(3) - Ministry of Agriculture and Farmer’s Welfare
(4) Ministry of Social Justice and Empowerment
posess | HHRINMCRRR . Faper
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89. ‘UHTHdl TSl WEATST I Tod TR R WISl ¥ Fifed Ugee! H W qae fewmn fean s =nfee’ 9%
o ferereh g ot T off 2
(1) TE YR GoR S i 331 e |
(2) T YMETR GUR ™M i 15 of R |
(3) ifa s
(4) heara o Ao o1 o T gREuta yeE faum P
90. Tren TS YR o1 YR H fifha § | ford &5 H Jeed § 2 Ir ‘
(1) @ (2) FEW () T o) wEw
y 4 i
91. TUM HEel § af-oq ASHH i fa‘q;rﬁ'gr/l;:dffohd ;I_"@r foRgeh GRT ! 7T off ?
(1) W TR R SR @) | fg?ﬁﬂ*imﬁm UR S
(3) T, et wfafa (4) fifa
4 ("
92. HHMH! UM HSh Al (ﬁ@ﬂ%@g{a@) 3 wejer 3 e Heri T forer R -
(a) O.TH.SH.THEE. 25%@5}12000 I IR & T8 o |
(b) IE ASHT 100 BF%SIH s B g S
(©) Wﬁwmwwwmaﬁmmww%
(d) =H S §§ qelditd ol Heerelid &3 | 500 9 31f4eh Sl ohl STeTe] afell IRl =hl 91l |1
: TR
, aﬁmw@wfmw@www:
1) (@), (b) (o) 2) (@), (9, (d) 3) (), (b), (d) 4) (@), (b), (0), (d)
|
93. 1985 # e At weemeH weleh <. 3. T W @ FrafR e g R T o2
(1)TWWW (2)  WIRA I AISHI SRR
(3) U AR fREM Hear HA (4) HTIfSR =T SR SRR HaTer™
rosas || [ IDIFHNHLAT i Papec
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94. Match List - I with List - II. Select the correct answer from the code given below :

List - I List - II
(Concept) (Explanation)
(a) Hierarchy (i) Number of subordinates to be controlled by the
superior
(b) Span of Control (i) Superior-subordinates relationship in terms of
control and communication .
(c) Coordination (iii) A subordinate should get orders from one
immediate boss -.r‘; )
(d) Unity of Command (iv) Synchronising the programmes Pnd avoidingg
duplicacy
Code : _ {
@ (b) () (d) {
1) @G @) () (iv) il 'i
@ @ O ) G A
|
G @) @ @) (@ / \
@ G @ (@) ( '

95. Which one of the following is not a constituent element of Bvi"itish Constitutionalism as per
A.V. Dicey ? LY f

e

(1) Parliament Sovereignty < I (2 RuleofLaw
(8)  Judicial Supremacy Vi < (4) Constitutional Conventions

96. According to Leslie Kish which of the following is/are the basic problem/s of ‘Sampling

Frames’ ? -
(a) Missing Elements  { (b) Foreign Elements
(c) Duplicate 'Entries (d) Groups/Clusters

Select the corrett answer by using code given below :
/(1) (a)only f @ ®)©
3 (®) (@) @ 4) (@) (b), (o) (d)

97. Which one of thF following is not an advantage of the Departmental type of governmental
organisation ?

!
(1), It ensures efficiency in administration
(2) . It facilitates the standardization of administrative procedures
r
(3) Tt re-conciles the line of authority with responsibility
(4)

4) It enjoys autonomy and flexibility in its functioning

posss |1

il i
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94, eIt - I Kl Geit - 11 § GAfad HifSe) i< fu T e 9 @@t ST 1 =31 S

et - 1 et - 11
( gt ) (=rET )
(a) TEHEMHE () IR g FEfE fRe ST At erefieee i den
(b) T =1 &= (i) T O WER % e # aftse- st & Faiy
(c) FH= (i) TH ey R TH € Frereaw afts @ @Ry faem
=T | 7
(d) S I Tehdl (iv) hTRISRHT Sl YHSh{HE ST q91 Qlalel § <A1 f
e :
@ (b) (9 (d) .
1 @ @) @) (@) =" (
2 @) @ @) (i) % “
@) @ @ ) @ £
4) (@) @@ @Gv) (i) f \
95. Tl S * Wﬁmﬁ@aﬁ@ﬁ—wﬁ@#&mﬁg@wﬁaﬁwﬁ%?
(1) g F Y V@) e
(3) =i g _} /@ e st
A
96. %t fors & SER Frefafed & @ & @ wfaeet g (e ) #t go goen/ 9o & 2
(@) @A (b) T T
(0 deduffgr (d) wE/FT
ﬁmmﬁiﬁmﬁﬂﬁwwwaﬂm:
() FE (@) ' 2) (b), (0)
LB (b)) @ f | 4) (@), (b), (o), (d)
97. Treifha # ¥ -1 TR WS o fAHFNE FhR 1 T A1 &l § ?
(1) %y § Ferer GHfeed F3d 8
(2)'y TE TRTEE WiFe AR # wedn 2§
(3) I MR iR STIfaed 1 @ ¥ dreiet S 7 |
(4) TE ST HERAYUICH § Tl IR T | I Tl
rosas || [ IDIFHNHLAT i Papert
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98. Which one of the following is the focus of research related with more specific in its subject of
focus, and it concentrate on certain particular components or characteristics of an
administrative system according to Ferrel Heady ?

(1) Modified Traditional (2) Development Oriented
(8) General system model building (4) Middle Range Theory Formulation

99. Which one of the following is wrong concerning International Monetary Fund (IMF) ?

(1) It was formed at Bretton Woods Conference Primarily by the ideas of Harr}?"Dexter
White and John Maynard Keynes.

Ip' r
(2) It works to foster global growth and economic stability
(8) Voting power in the IMF is based on quota system .
(4) The Board of Governors of IMF consists of two gp_vernor:{ andﬁﬁone alternate Governor

for each member country /,/
-
f |'
100. In Union Public Service Commission, ‘X’ qu appomted; as Chairman on 6th October 2013.
The other two members ‘Y’ and ‘Z’ were appointed o‘\ 8t November 2012 and 12th December
2017 respectively. If the dates of birth of X,'Y, Z we f‘d February 1954, 3'd June 1954 and
6 November 1958 respectively. What will be the c nolqg‘ical order of their retirement

from UPSC ? 4
1) XYZ @ Xz O z X @4 Y, XZ
Vi
- -00o0-
{ -
{
‘4
f ‘f \
|
i
5
’ r
ponass || [ITHAETATNN a6 Paperi
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98. Hd TSl o AR Frefafed # | vy dadt sF- w=-fog 97 Hi=a fom & an 9 sifuen
TR § AT YR dF o hiaua fome Heeshi stean fosmoasti W oM wfgd i © 2
(1) eifed W ) fowEFE
(3) wM=A orelt gfqHE o 4) e I fEgr P

99, T gl HIY (ME.TH.UE.) & T § Fr=ferfad § ¥ =iF o1 eta © 2

(1) Hem: %ﬁéwwwaﬁimﬂﬂﬁﬁﬁq%ﬁanmamw@mﬁwn?m
T T |

2) I afvaesw gig qen snfdier feerar =1 sgEen 37 % forw wrf wa T !
(3) SE.TH.UH. § UASH T SRR hiel Jorelt T enia & 2|
(4) aﬁ@w%@éwnﬁﬁmww%ﬁmﬁamwwwmm
S| 3
f‘ |
100. 'Ff‘q("llch@aTdiMI‘lﬁ,6Mﬁq{2013aﬁ’X'aﬁﬁa@?a??ﬁTﬁTﬁﬂaﬁmW| 3 N HeE Y
AT ‘7 N HEA: § T 2012 d 12 feder 2017 1 Frpgd fof=n w1 AR X, Y, Z H 5= faf

Sl 2 THRE 1954, 3 [ 1954 q1 6 TR 1958 € il I .C.H. | STt Jarfafa 1 HiemshH
R ? -’

1) XY Z 2 XZY 4 3) Y,rZ, X 4 Y X Z
. \4_){
__h - 00o0
" o
|
‘4

poss [ 1T NANEAI :
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